HRENEX MEHR

T2F SAERA

(Bf1: M)
EE - BEOAR & %8
I BEDI
1 REIEE
REHES 328, 055, 488
HE WEFHES 473, 940
=1 i1 4| % 97, 404,129
E 2R 4| % 230, 177, 419
x 1 % 99, 703, 332
REBEESE 427,758, 820
2 [EBIEE&E
(1) EAKBfE
+ th 42,212, 800
e )] 305, 674, 535
HEARBESS 347,887,335
(2) ZFOMOBETEEE
+ th 22,000, 000
1B - ) 23, 389, 089
=) 7] 2 i B 1,173,030
2= =1 & (0} & & 5, 856, 949
e % % B E 8,249,676
B OB K 1 5| L & E 15, 363, 920
ZTOMDEEEEESE 76, 032, 664
EEEESE 423,919, 999
BEAE 851,678, 819
I BEOH
1 REIAE
* h & =2 45,604, 514
] Y % 4,811,070
R R 698, 175
M ERRH 103, 567
EXEE 1,302, 411
k=i 1,746, 817
EFERH 650, 500
K& E 207, 600
Bz 40, 000
HiESE 36, 000
EXE 26, 000
mEaEesEt 50, 415, 584
2 ETEaE
B OB 5 1 5] = % 15, 363, 920
BE&ESEET 15, 363, 920
BEEE 65, 779, 504
Eo|fiEE 785, 899, 315




